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Probability

proposition positive proposition negative

[that is John] — [that isn"t John}
1 that must be John 7 that can’t be John
2 that certainly is John 8 that certainly isn‘t John
9 it isn't possible that's John

3 that will be John 10 that won't be John
4 that probably is John 11 that probably isn‘t John
12 it isn't probable that's John

5 that may be John 13 that needn’t be John
6 that possibly is John 14 that possibly isn't John
15 it isn't certain that's John

[that isn‘t John} {that is John}
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Obligation
proposition positive proposition negative

[do that!] [don’t do that!]

16 you must do that

22 you can’t do that
17 you're required to do that

23 you're required not to do that
24 you're not allowed to do that

18 you should do that

25 you shouldn’t do that
19 you’re supposed to do that

26 you're supposed not do that
27 you're not supposed to do that

20 you can do that

28 you needn’t do that
21 you're allowed to do that

29 you're allowed not to do that
30 you're not required to that that

{don’t do thatl] [do that!]

Figure 10-16 Probability and obligation with positive and negative propositions and proposals
(Note: No. 22 is now more commonly musin’t, from the direct negative must not.)
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